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INSTRUCTIONS FOR CANDIDATES Nenffal & forg Ader

1. The Question Paper consists of four sections
Section-A Mental Ability of 50 questions (Q.No. 1 to
50), Section-B Teaching Aptitude of 50 questions
(Q-No. 51 to 100), Section-C General Awareness
of 50 questions (Q.No. 101 to 150) and Section-D
English OR Hindi of 50 questions (Q.No. 151 to
200).

2. Write your entries like Question Booklet No. and
Subject selected for Section-D etc. very carefully and
fill the relevant circles on the OMR Answer Sheet.

3. For filling the OMR Answer Sheet and darkening the
circle use Blue/Black Ball Point Pen only.

4. Answer all questions. There will be no negative
marking.

5. 3 marks are allotted for correct answer of each
question of section A, C, D and 3, 2, 1 and 0 marks
are allotted respectively on preference for correct
answer of section ‘B’ Teaching Aptitude.

6. Each question has four alternative responses marked
serially as A, B, C, D. You have to darken only one
circle or bubble indicating the correct answer on the
Answer Sheet using Blue/Black Ball Point Pen.
Darkening more than one circle would be treated as
wrong answer.

7. If there is any sort of ambiguity/ mistake either of
printing or factual nature then out of Hindi and
English Version of the question, the English Version
will be treated as standard.

8. In case of missing pages, missing questions or any
kind of printing discrepancy/defect in Question
Booklet, candidates may put their objections to
invigilator within 5 minutes and obtain another
Question Booklet.
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Section-A / {FT-3A
Mental Ability / ATk AWraT

A square transparent sheet with a pattern | S.
is given. Figure out from amongst the !
four alternatives as to how the pattern
would a (})pear when the transparent sheet

1s folded at the middle line shown.

Yo 1t Wb =Rk qres! sfie € T8 7 | |

IR faeredl & & 98 ya1 e foh fos

e W W YREs 3fie i \led W e

e fe@mg < |
Question Figure / SR 31'@% :

o\
Mo
Answer Figures / 3t 3Tl$ﬁl?ﬁ :

2 L (R

A ®  (© (D)

In a class of 60, where girls are twice than

that of boys, Mihir ranked seventeenth from
the top. If there are 9 girls ahead of Mihir,
how many boys are after him in rank ?

60 T Teh HaTT H, &l TAihal TAgh i
o1 | QT 8, Tufet S & a9gd e

m%|&ﬁﬁ%¥ﬁaﬁ9a€%ﬁﬁ%‘,aﬁ§

fepa e ¥ (W) ﬁwﬁsiﬂa% ?

(A) 3 (B) 7

() 12 (D) 23

What was the day on 20" December, 1985 ?
EA) Monday (B) Tuesday

C) Thursday (D) Friday

20 femar, 1985 B @ e o 7

(A) HHER (B) TR

(C) Tea (D) 3hAR

Find out which of the figures (1), (2), (3) |
and (4) can be formed from the pieces |

glven n ﬁgure X)

%(m 3) 3ﬁr (4) Wﬁ‘%w
VB\ AL

O IC RN BN
(B) 2
(D) 4

X
(A) 1
) 3

A clock gains 15 minutes per day. It is
set right at 12 noon. What time will it
show at 4:00 a.m., the next day ?

T gl Uidfed 15 fFe 3 dedt 8 | 98
TTE 12 o S HI A B | I oA
Td: 4:00 ST 98 A1 THY ST ?

(A) 4:10 am. (B) 4:45 a.m.
(C) 4:20 a.m. (D) 5:00 a.m.

Select the missing number from the
given alternatives :
%qnm%amﬁﬁ@qawaﬁgﬁm

11 | 24 | 13
8 |12 ] 10 10
16 | 9 ? 113
(A) 11,13 (B) 12,20

(©) 22,12 (D) 9,13

Choose the figure which is different
from the rest.

g 3T I 511 STkl HTh{T § ST 3 |

slvai=sliell=

o @ & @ O
A) () (B) 3)
© @ D) )

From the given answer figures, select the
one in which the question figure is
hidden/embedded in the same direction.

& TS IR SR H T I8 Teh 1 T B
TS wrer armepfar 3t feom ¥ fdy/amafifea
2 |

Question Figure :
3=

o

Answer Figures :

ST SRR :

$ ey

A B © @




10.

11.

12.

How many triangles are there in the figure ?

3Tepid H febed Bryei 8 7
(A) 12 (B) 16
(C) 14 (D) 18

A person moves in north direction by 7
km, then turns left and moves by 4 km,
again turns left and moves by 9 km,
again turns left and moves by 4 km. How
far the person is from initial position ?

(A) 2 km (B) 11 km

(C) 13km (D) 16 km

T fth IR feun 7 7 foprt = &, e
a1 et 8 37 4 fopeft <roran &, o & amd

et & 3 9 ferell =erar &, e & wmd

el @ 37 4 fopeft =reren 2 | =afeh g |

feafa & fepafi T e 7
(A) 2 foprft (B) 11 feprft
(C) 13 foprft (D) 16 Teprft

In the following question, select the related
word from the given alternatives :

fertilizer : crops : : ?

(A) teacher : education

(B) tonic : body

(C) chlorine : water

(D) pesticide : rats

frerferfa e & fog o fospedt & & |

wfmwaﬁgﬁn
IHh : B

(A) %r«?a%s.%rm

(B) fhadeh 3wy : IR
(C) FAR : 9Tt

(D) I : g

How many numbers from 11 to 50 are

there which are exactly divisible by 1
but not by 3 ?

11@50@%@%}%@@%3%1@

qufa: fawrsw g wifer 3 9 & 2
(A) 21 (B) 25
(C) 15 (D) 27

13.

14.

Here some words translated from an
artificial language are given.

slar means jump

slary means jumping

slarend means jumped
Which word could mean “playing” ?

TET ST T FFACd o g g M F |
slar 311fa jump
slary FAYTq jumping
slarend 37T Jjumped

Torer wrog o1 37 “playing” B GhaT & ?

(A) clargslarend (B) ellaclarg

(C) clargy (D) slarmont

Assertion (A) : A mixture of salt and
ice gives temperature below 0 °C.

Reason (R) : The salt raises the freezing
point of ice.

(A) Both (A) and (R) are true and (R) is
not the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

AN (A) : THH I FH H1 O
0 °C & ==l o1 qaHH a1 ¢ |

AT (R) : T 9 & &0 H s@r e 2 |

(A) THT (A) 3T (R) T & 3T (R), (A)
1 T TIEHT el & |

(B) THT (A) 3 (R) T & 3T (R), (A)
1 T TTER § |

(€) (A) W& 7, Tfeh (R) TeTq & |

(D) (A) TTeTd &, <fehd (R) WEl & |

Arrange the words in a meaningful
sequence.

1. Police 2. Punishment
3. Crime 4. Judge

5. Judgement ’ .
ITegi sl SFAYUT s H SFfErd i |

1. gfet| 2. Gl

3. Y 4. =S

5. from

(A) 1,2,3,4,5 (B) 3,1,2,4,5
©) 3, 1,4,5,2 (D) 5,4,3,2,1



16. Statements : Some books are pencils.
Some pencils are pens.
Conclusions : I. Some books are pens.
II. All pens are pencils.
(A) Ifonly conclusion I follows.
(B) Ifonly conclusion II follows.
(C) Ifneither I nor II follows.
(D) Ifboth I and II follows.
FUT : FO fohare U § |
FOUGATE |
frehd ;1 Fo e T & |
11 Tt 99 Uit € |
(A) afe paet frsshy 1 317 HEaT 7 |
(B) =fe sharet Tssh 11 18T e ¢ |
(C) e T4l I 3R & 11 SFTEWT HTT1 2 |
(D) =fe 1 37 11 gHT 3TER0T o % |

Directions (Q. No. 17-19) Read the
following information carefully and answer
the questions given below it :

G is the mother of F, who is the spouse of D.
M is the daughter of D, who is the only brother
of C. E is the son of G, who is married to H. A
is the niece of C, who has no sister and is
unmarried. T is the father of D and has no
daughter. V is the sister-in-law of F. G has
only two children. M is the granddaughter
of O.

R @.8. 17-19) : Frafoiftaa STl =1 g
afeu 3 36 i fow e v 6 SR &R :

G, FHI ar g, st D& qeft g | M, D 3 T 3,
S C %1 ShAT W & | E, G 1 A &, fS@em
fame HA g R | A, C i wefish B, fomeht 8

e 181 8 3 rfearfga 8 | T, D o1 fuan & 3t |

;

19. Who among the following is the sibling
of F ?

frafafed § 4 & F e wE/ee1 8 ¢

(A) G (B) H

<€ Vv (D) E

Directions (Q. No. 20-22) : Eight people of

. which A, B, C, and D are women and P, Q, R,
- and S are men sit around a circular table facing

towards the centre. None of the women sit as
immediate neighbour. A is not facing B. Q,
who is immediate neighbour of C, faces P. R is
immediate neighbour of D but not of C. D
does not sit second to the right of C. At least
one person sits between A and R.

e @E. 20-22) : 318 =tk AW T A, B, C,

| 3R D A # 3t P, Q, R, 3R S ToW &, Th

| TR B % =R SR g A IR T w0

2 | g oft wfger Fercan v % wq o 7 3t
B IAHT @ BHI IR 7 | Q, 51 C 1 Fehean
TS &, 3uh @ P sl TR | R, D ol fereem
it 3, SRET C 31 | D, C 3 g & g e

| WA ST | A 3R % o9 HH ¥ FH 0 A6

IEH FE PN TR IV, FH AT 1 G F |

FIAG TH S | M,OH Tredl 7 |

17. Howis V relatedto M ?
(A) Paternal aunt (B) Maternal aunt
(C) Sister (D) None of these
V, M § for g wefea 8 7
(A) =it (B) HTHt
(C) &&d (D) 3TH 8 i3 T8l
18. How many female members are there in

the family ? ]
yfEr d ferat afgen ge= @ ?
(A) 7 (B) 4
©) 5 (D) 6

NKP
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20. Who is sitting to the immediate right of S ?

S o 3¥h TRl B 31 2 7

A) C B) A

() P D) Q

Who is sitting in front of B ?

B % HTH- S 31 2 ?

(A) D (B) C

€ S D) Q

How many people are sitting between R
and C if counted from right of R ?

R % €& § fid S W R 31X C % A
fra afr a3 € 2
(A) 1
©) 3

(B) 4
(D) 2



23.

24.

25.

26.

Find the missing figure in the series

from the given answer figures.

aﬁwa@%ﬁﬁﬁﬂ@wﬁ—@
AT I Ha HT |

Question Figures :

®

@

@a ® © @O

Which number would replace the
question mark in the given series ?

@ et § g g % e W

i = g st ?
2,7,14,23, 2,47
(A) 28

(C) 38

(B) 31
(D) 34

If in a certain code language SECURE is |
coded as ERUCES, then how is SALINE

coded in that same code language ?

e foreft ffead e W1 § SECURE i
ERUCES &9 H %eag foham Smam &, ar

SH! % 9T H SALINE 1 $H heag |

Topa SaT ¢
(A) SALIQE (B) ENILAS
(C) EALINS (D) ERUCES

If GIVE is coded as 5137 and BAT is |

coded as 924, how is GATE coded ?

aﬁGIVEﬁsmﬁsmﬁwﬁW%
T % S BAT 1 924 % &9 # feog |
fofen 71 &, A GATE 1 %8l spewg fbn |

ST 7
(A) 2547 (B) 5724
(C) 5247 (D) 2457

27.

28.

Select a suitable figure from the Answer
Figures that would replace the question
mark (?) :

IR AHCAT H § I8 I9GH hId H
T HINC S weTess fag (?) W
FcReerfud T

Question Figures :

W&@ﬁl’q’f :
.\T/O oo o

ZN < ?
@ (b (© @

Answer Figures :

IR SATHHAT :
® ® ® [ ] o
® ®
> 022 JS LUK
o @ & @G 06
A) (1) B) ()
(ONE) (D) (4)

Which of the
correctly

following diagrams
represents  the
Bidi

relationship

among Smokers, Smokers and

Cancer Patients ?

frfefied 5 & M @1 3@ guaH wH
aret, st di arett 3R Sher AR < &=
HeY I TEl & § Qa1 & 7

NKP



29.

NKP

Directions In this question three

statements followed by two conclusions |
numbered I and II have been given. You i

have to take the given statements to be

true even if they seem to be at variance |
with commonly known facts and then :

decide which of the given conclusions

logically follows the given statements.

Give answer.

Statements :

i. 0% frocks are pants.

ii.  All shorts are frocks.

iii. A few jackets are pants.

Conclusions :

I.  Not a single pant is shorts.

II. A good number of jackets are not
frocks.

(A) Ifonly conclusion I follows.

(B) Ifonly conclusion II follows.

(C) Ifneither conclusion I nor II follows.

(D) If both conclusion I and II follows.

e : 38 v 1 fF e SR 3Heh SR

fasepd 1 3 11 feu 7w & | st fou g

YT ! T AT & 9o &1 o Hamra

¥ firt et Bid & AR e 77 L fo6 oy |
T fsRuT o § S G1 ST 1 dTfhh €9 |

T STTET AT B | IR |

%Yq :

i 0% Wi |

i, @i v wied |

i, TIPS |

e -

I it wicd i R

II. Skl <l Ueh 7= AT Wik 81 & |
(A) Ife Sheret ey 1 STLERor LT B |

(B) Ife Sheret e 11 S8R0 Lar 2 |

(C)aﬁ:ﬁﬁﬁw&lﬁwﬁnmi

HAT R |
(D) aﬁﬁﬁﬁél:&ﬁtllaﬁm%‘{ﬁ%l

30.

31.

Find the missing term in the following :

Freferiaa o S| e 1 i :
J E
E 151 17 L
7 24 | 29 C
N 7
(A) M B) Z
© Q (D) S
Directions Study the following

question carefully and choose the right
answer :

Statement : Be humble even after being
victorious.

Assumptions :

I.  Many people are humble after
being victorious.

II.  Generally, not

humble.
(A) If only assumption I is implicit.

people are

(B) If only assumption II is implicit.
(C) Ifeither I or IT is implicit.
(D) Ifneither I nor II is implicit.

7w : frfarRaa w7 1 egdes srerm
L TR T I BT T B
HYA : fororft B % wre ot fomm =1 @)
gRuMd ;[ §gd & oA faoRft g9 % 91
IEEERICES

1. SR T AT ford T2 81 & |
(A) Ife Sheret |Ton 1 Fafifga @ |
(B) AT Spered aROT 1 Feiee 2 |
(C) Ffe =l 131 11 3dffgd 2 |
(D) AfC TN I A & 11 SFlEd & |




Directions (Q. No. 32-34) Study the

following information careﬁllly and answer |

the questions given below :

Seven persons namely P, Q, R, S, T, U and V

like seven different fruits namely Apple,
Mango, Banana, Orange, Kiwi, Guava and

Strawberry. Each of them works in either of
the three companies TCS, Wipro and ITC with |

at least two of them in a company. R works in
Wipro with the one who likes Banana. U does

not work with R. P works in ITC with only the
one who likes Kiwi. U does not like Apple. T

works in TCS with the one who likes Apple. T
does not like Strawberry. The one who likes
Strawberry works with the one who likes
Mango but not with R. S works with the one
who likes Guava. S does not like Banana. Q
does not like Apple.

e (9.4 32-34) : Fi=AforRaa STHehTdt <t eTgEsh
1S L 3T e feu e g o ST -

| Ak AU P, Q, R, S, T, U 3R V |
FAAT-HAAT ®A 3194‘13 ?rq', M, HeAl, Ha,

H1efl, smEg 3 Fell Tg Fd ¢ | T g
g i A=Al TCS, Wipro 3R ITC ¥ & |

Toref Ueh T M AT B, TSIAQQEFHQEFHTEIQEB
HIH T | R, ohcd ol THE s Tl Feh o 91
Wlproﬁa?rém% | U, R & @1 &H &
HEI R | P, ITC & Hae 36 46 % &Y %
T & R it 78e 2 | U i a9 Toe TE B |

T, ¥§ G 1 el SAfh % 91 TCS § i |
MR | T B Eiad w6 g R | 98 e Bl

R‘@ﬁwa%a%qu T dTet S4feh o |1y

T Al & Afehd R o 91 981 | S, 3HEC J8e
T It Afh o HIY B BT @ | S i hedl

THE TEl 8 | Q %! U HE T ¢ |

32. Which of the following combinations |
: 36. P represents :

represents the persons working in Wipro ?
ﬁtr%rﬁaaﬁﬁﬁquﬁmwlpmﬁ

hTH i dTet SRl ol q-‘«’lldl % ?

EA) S,R (B) Q,V.R
C) U,T,R (D) R,Q :
33. Which combination represents the :

company in which V works and the |

fruits he likes ?
(A) TCS - Apple (B) TCS - Banana
(C) Wipro - Guava (D) ITC — Mango
°|'>|"| m IS 39 °b‘4"|| El

3 ?
(A) TCS - &« (B) TCS - el
(C) Wipro - 3/&q (D) ITC - 31H

34. Which of'the following statements is true ?
(A) R works in the company in which P
works.
(B) U works with the one who likes
Mango.
(C) None of the given statements is true.
(D) S works in Wipro.

freffgawemida s T ad 8 7

(A) R 38 &9 ¥ &1 Har g Sed p
HTH HATE |

(B) U 319 98¢ 4 arct =fb o &1
T AT 2 |

(C) fewm i A A g N a1 2 |

(D) S, Wipro TS Har g |

Directions (Q. No. 35-37) Study the

following diagram and try to answer the
questions accordingly :

e (9.4, 35-37) : Fafafea sma =1 sremm
L 3R T3] T ST & ohT TIH o :

Intelligent
g
ABrave
A% D Handsome
35. Which letter among the following
represents intelligent but not brave or
handsome ?
frefafea & @ &9 @ 3R gigum,
fehr SETGL AT FreX &l ol ST & ?
EA) T EB) Q
c Vv D) U

(A) Intelligent onl

(B) Intelligent and handsome
(C) Brave and intelligent

(D) None ofthese

PeUial g :

(A) HI IfemH  (B) FfgHA ST HX
(C) TEIARFGAA(D) T8 & HIE T2l

37. Who among the following is brave but

neither intelligent nor handsome ?

frfefied § @ & 981Gt &, ek 7 @t

fgae 8 A @ ger 7
A) Q (B) R
©) S D) Vv

NKP



38.

39.

40.

41.

NKP

Select the related letter from the given
alternatives.

feu o ferspedi § & Tafera 378 @ g |
(A) ZXVT (B) YXWV

(C) XVTR (D) WVSQ

Which of the following diagrams

indicates the best
Football, Player and Field ?

= T ¥ SH 91 3@ Featd, faaret 3R

HeM % e oY 37 Y ol cuidT § ?

w(@ v
© Y (D)

Arrange the following words as per
order in dictionary :

frfeifaa wreql b1 eIy % SHATTER |

TG hIT ;

1. Ambitions 2.  Ambiguous
3. Ambiguity 4. Animation
5.  Animal

(A) 3,2,4,1,5 (B) 3,2,5,4,1
©) 3,2,1,5,4 (D) 3,2,4,5,1

Select a suitable figure from the four
alternatives that would complete the
figure matrix.

IR foehedi § | Th IUYh STRId 1 =M

7 3 A SR A T R

IR
2T
F|F| 2

+
3

(A) (B)

| |-

© (D)

relation between

42.

43.

wry

If P denote ‘+’, Q denotes ‘-, R denotes “+’
and S denotes “x’, then 18S36R12Q6P1 = ?

Ife pep1 31+ B, QH1 Y < B, Rl
Fd <+ B IAN S w AT x> B, a
18S36R12Q6P1 = 2
(A) 115
(C) 55

(B) 65
(D) 49

If North is called North-West, West is
called South-West, South is called South-
East and so on. A person walks straight
from South-West to North-East and
turns left. Walks straight and again turns
left. Now at what direction is he facing ?

(A) South (B) North-East

(C) North (D) South-West
Ifg I 1 IT-UfTam Ha1 1 7, gfvam
%! clgur-ufgam el Sl 8, cfeor i
gfeaur-gdl gl ST & SR gl atE AT |
T =i gfau-dfeem & e sa-qd
3R T 8 3TN a8 g1 & | He 9erdn &
3R R & a1¢ g1 7 | 379 391 4@ Ford
feam < 3 7

(A) gl
(C) W

(B) SR~
(D) Gferor-afe=m

From the following positions of dice,
find which will come in place of *?’ :

ural o Frefafaa feafen @ s Hifsg
o6 < o TUW W B |1 I
4 5 1
2 P 1|2 6|’
(1) (ii) (iit)
(A) 4 (B) 5
) 2 (D) 3



45.

46.

47.

48.

Select the correct mirror image of the

given figure, when the mirror is placed |

to the right side of the figure.

aﬂémaﬁaﬁmwﬁwwa&
T g1 1 STTHRA 6 TS IR T S |

Question Figure :

I

Answer Figures :

A ) e

(A) (B) ©) (D)
Choose the missing term in the glven series :
& TS 7@ § GH S i
KMS, IP8, GS11,EV14, ?

(A) BX17 (B) BY17

(©) CY17 (D) CZ17

Q is as much younger than R as he is
older than T. If the sum of the ages of R
and T is 50 years, what is definitely the
difference between R and Q’s age ?

EA) 1 year (B) 2 years

C) 25 years (D) Data inadequate
QRUSFUIFMEBIRIE ST a8 T I

w12 | Afe R 3 T Al 3y 61 9w 50 o |
2, d ffaq ®0 R 3 Q i sy > o=

fopaTT SRR 7
(A) 199 (B) 299
(C) 2599 (D) 3T9ITH STeT

A team of project managers needs to decide

on the best approach for a new project.

Option A is cheaper but has a higher risk of | 7
failure, while Option B is more expensive :
but has a lower risk of failure. Which |

option should the team choose ?

(A) Option A (B) Option B

(C) Both options _ (D) None of these
qRETSHT Ja4ehi bl Ueh I hl Teh

qﬁw%maﬁng@aﬁquﬁvh
o ol ETIhAl & | foshed A T |§

Afehd 308 fawetdr &1 Sitgw 31fees
wafes fawen B sl wgm @

%stﬁf@nm% |2ﬁn3€faﬁ=rm

|°|°h("4 ekl ‘C{IISK 7
(A) Toped A

(C) g fershe

49.

50.

Following question consists of a

statement followed by arguments.

You have to decide, which of the

arguments is/are a Strong argument and

which is a Weak argument.

Statement : Should school education be
made free in India ?

Arguments :

I.  Yes, this is the only way to improve
the level of literacy.

II. No, it will add to the already heavy
burden on the treasury.

(A) Ifonly]I is strong.

(B) If only II is strong.

(C) Ifeither I or Il is strong.

(D) Ifneither I nor II is strong.

T H Th YT IR 3G 91¢
T feu MU E | STueRt A 7 T § fR
I T Teh Teh TG doh & I hi- T Th
FHHAR T 2 |
HYT : FIT YRA H Tpelt 1211 Sl TR B
" T =TT ?

I. &, TRl & T § UR HH &1 T&
THAT TR 2 |

. &, I8 TShIY T Ut ¥ & will g
I 3R FGT M |

(A) Ife Sheret 1 Hofea § |

(B) Ife haet 1 AT 2 |

(C) afeamar 131 1 A<ea ¥ |

(D) AT AN 3R A& 1 7feed B |

Choose the correct water image of the
given figure (X). ’
@ TS IR (X) I TE I B A |

Question Figure :
R :
MxeereerreeeTn N

X)
Answer Figures :

NI

@“a  ® © O

NKP



S1.

S52.

53.

NKP

Section—-B / AT-9
Teaching Aptitude / Tregor 31'&@'%

Teacher may learn the skill and art of his | 54.

profession by
(A) Observing TV Programmes
(B) Listening to Radio

(C) Working on Computers
(D) All of these

%{W&ﬁﬁﬁ%ﬂamﬁt%maﬁg

g TNg T § |
(A) 2Tl SrIshAT 1 e
(B) e g
(C) YL I hH BT
(D) Tg afl

Micro  teaching in B.Ed. for
Communication skills is necessary-

(A) For self-evaluation

(B) For completing course

(C) For development of various skills
(D) For page feed

&1.78. (B.Ed.) H g&gw Tefor ¥R e
% fer TE 2 |

(A) ITTH-TTehA o foTu

(B) HTSHY G0 A o foTu
(OREIREEINNEACEIERTIY

(D) Y8 %18 < fe1g

Information regarding National

i

Education Policy and related activities |

shows —

(A) Awareness of a teacher towards

literature
(B) Political consciousness of a teacher
(C) Vocational interest of a teacher
(D) Earning potential of a teacher

i e A s w5

R T ST o femTdt & 2

(A) HTfEe & gl ueh fretes i STTEshd
(B) Weh fretes Y Teififeres =

(C) Teh T1e7h o saTerdTie fad

(D) Ueh f3187eh shi TS &7

i
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56.

The more confidently you give
instructions, higher the chance of a
positive class response is due to

(A) Use of Voice

(B) Use of Appropriate space

(C) Use of Body language

(D) Use of Skills

a1 rferes arreafevemd & 3 féw &
2, o HRUT HET h TN
ferfora <61 wereT S € i B |
(A) JTETS o 9T

(B) 3 T & 39

(C) TRifRes WTST % ST

(D) ST % ITANT

Good Teachers need

(A) Interpersonal Skills

(B) Intrapersonal Capacity

(C) Both Interpersonal Skills and

Intrapersonal Capacity
(D) None ofthese

318 Trerhi o fetu

(A) 3TdaTheh i

(B) UREANEh &HAT

(C) 3TAATTchep hIvTed TR RSN FTal
Ll

(D) 3T & 1S &

Excellent and effective communication

is characterized by following elements.

Arrange them in a proper sequence

1. Taking action

2. Noticing

3. Knowing
4. Flexibility to change

3IhE IR g FAR TR at 6
fersroan 2 | 3= 3fer shm o Srafeem |

FEH 2 |

1. HIATE ST

2. S

3. SEAT

4. ¥ o fou Tl

(A) 1,2,3, 4 (B) WBIaN
() 2,3,4.,1 (D) 3,2,4,1

|Yellow = 3M | Green=2M | Blue= 1M |




57.

S8.

59.

Success of any profession depends upon
(A) capability and proficiency

(B)

(C) need

(D) mental state

fereht oft srarEmr <t Ahetar feR et 8

(A) &THaT 3R getordT
(B) B

(C) et

(D) s fRafa

Some students are absent from your
class but not from the classes of other
teachers. What will be your inference ?

(A) Will be happy to think that students

are scared of my hard temper.

(C) Will try to find the reason of their |

attendance in class of other teachers.
(D) None of these

%S B I Hefl ¥ IR § wfeh
3= Tegeni 1 a3 § &I | SR
ITHM FTEAT 2

(A) T8 "kt GEft Bt foh ® W H3R |

WY A S FCR |
(1) Eeih o5 e ) § ikt Bis & |
(C) 31 Trerent <t wem o Iufeafa
HRUT T T TIH BT |
(D) $TH | I3 &I

What is the use of home work ?

(A)

(B) For development of student.

(C) To analyse understanding of student.
(D) To develop writing skill.

T8 ST 1 1 ST 8 7

(A)

(B) BT % ferehr o fotw

(C) BT sl THE o1 fageiyor & & fow
(D) TG e forepféd & & fora
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60.

61.

62.

abilities  determine the

performance of a wide variety of tasks.
(A) Cognitive
(B) Affective
(C) Psychomotor
(D) Manipulative

gHaTd fofie TR o %[l &
WeRH i fuffa S g |
(A) EiIcHs: (B) HIecHs

(C) TNEAHS (D) Te-drg

Showing care for students refers to use
of teachers’ .

(A) Appropriate Methods

(B) Behaviour

©)

(D) Attitude and style

ST hl CEHTA HEAT egent o

% IUANT ! T LT 7 |

(A) 39gF TF  (B) SRR

(C) il (D) e i et
Teacher as a leader convey convictions

about a better world by
(A) Contributing to an

image of

teaching as a profession that makes
a difference.

B)

(C) Standing up for children especially
disadvantaged and marginalized
sections of society.

(D) Acting on  opportunities  to
emphasize accomplishments and
high expectations.

Teh 3T o &9 | f3rereh gl Th
gL g o IR H fovams oIk hid § |
(A) T U & &9 H e #i sfa ¥
NS HT ST Teh 37T ST § |

B)

(C) s=1 & fou fomw &9 @ gfwm 3R
THTS o o1 o foTT @l 2T |

(D) 3T 3T 3= IIG T SR & &%
FITEY W B BT |

NKP




63.

64.

NKP

Parents of are keenly interested
in knowing what makes their children
tick and how teachers can help them
make good choices.

(A) Children

(B) Under 12 children

(C) Adolescent

(D) XYouth

feeraredft wad 2 T 37 sl ol o 3=t
AT g IR et 3= foehed W A
3Th! Heg hl U Hehd ¢ |

(A) &=

(B) 12 UT1 § %W 3 o 9

(C) Tersm/feramdt

(D) gl

Every teacher should mandatorily have

the knowledge of child psychology

because it —

(A) gives the teacher an introduction to
student’s behaviour.

(B) helps the teacher in understanding

the feelings of mind and heart of the
students.

(C) helps the teacher in comparing and
identifying students.

(D) makes teaching work difficult.

Ty e w1 e W ¥ 9

TSR &1 T 8HT 18T Hifeh

(A) I8 18T 1 B % HIER H1 T
Al |

(B) BTl & feam 37 et 6t wramna =i
Tz | fireres <l Heg T 2 |

% - fi @ T T

@)mﬁzﬁ@$n$ﬁaﬁquﬁﬁ§

TRreren <1 TR LT 2 |
(D) Treror s o i ST R |
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65.

66.

67.

Which of the following learnin

materials is suitable for students wit

partial vision ?

(A) Three dimensional maps and charts.

(B) Small sized printed worksheets.

(C) Information given by speaking,
tactile notice boards (Braille).

%ﬂ; Iaarge sized printed book.

@ = e armft svifves g
TS BTAT o FoTT IUFH B 7
unﬁmwmﬁm@ﬁﬁmé
(B) BIE 3ATHR o Gfgd Ten3fic
(C) e e ge SIS g &
ST (sie)
(D) S 3R ! Gfed qeeh

teachers know that they have
areas, they need to work on, and they
want to improve.
(A) High will, Low skill
(B) High skill, Low will
(C) Low will, Low skill
(D) High will, ngh skill

S g T 36 e v

WWB% T T i STTALIHAT &
3R 9 GUR ST =R § |
(A) 3= 3T, HH HIT
(B) 3= hisTeA, THH 3T
(C) % TN, A HITA
(D) 3= =B, 3 PV

The four principles of effective

instruction are as follows. Arrange them

in a proper sequence
Expect to get them and support
them along the way.

2. Start where your students are and
know where they are going.

3. Use feedback to get them better.
Focus on quality, not quantity.

mmﬁﬁh%an%@hammn%mﬁ

3fud e O SefREa &t |

1. 319 fiyem i smem =t 3K T |
37T GHA T |

2. & L & 3TH BE 8 IR IH 6
é%ﬂm@%|

3. 3% SER s & fau ufdfsean
IFIT R |

4 TSl I EIH <, WA 9 TR |
(A) 1,2,4,3 (B) 2,1,3,4
(C) B2 (D) 4,3,1,2

|Yellow = 3M | Green=2M | Blue = 1M |




68.

69.

70.

Academic part of Education at School
level is controlled b

(A)

(B) National Council for Educational
Research and Training (NCERT)

(C) National Institute for Educational

Planning and  Administration
(NIEPA)

(D) National Council for Teacher
Education (NCTE)

ferermera TR o et 1 Qeafork W fopeeh

g fRifa femer wman & 2

(B) UgT Afersr @y 3 ufdreqor
qig (TSR

(C) Sferes AT 3R J=ImEH & o g
HEI (THATSEIT)

(D) fyers frem &% fau whw ufwe
(TTEEE)

A teacher can enjoy teaching as a |

profession when he/she

(A) gets respect from the students.

(B)

(C) has better qualification than his/her
colleagues.

(D) is close to principal or
chancellor.

T forereh U1 o ®9 A e w1 3THe 99

o T & 99 98

(A) BEIY T IR |

B)

I S |
(D) Tiftruet = amsm s HeR S Hia R |

guidance.
(A) Authoritative (B) Authoritarian
(C) Indulgent (D) Disengaged

SIS
TG L ¢ |
(A) 3TfeepTies  (B) HxiETe!
(C) g (D) fereerfua
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vice |

(C) 38 HeAllRl i gor § sga |

styles of discipline provides

71.

72.

73.

‘I will now explain to you how to play’

is

(A) teacher talks about own teaching

(B) teacher’s response to action of the
learners

©

(D) teacher explains a rule
'3 8 3! AT 6 HH W &
2
(A) Torereh 37 freqor < R & &7d heaT 2
(B) Treiiat < foran & fou feres i
BIRIERI

(©) F

(D) Treres wes foom wwgma

Looking down and not making an eye
contact with the students is regarded as

showing .
(A) Disinterest

(B)

(C) Nervousness

(D) Anxiety or tension

= @ 3R BE ¥ @ T faem,

fegmT o STt B |
(A) B (B) FRESTAAE
(C) =sEe (D) T =1 qame

Co-curricular activities are organized in

schools so that in students —

(A) Feeling of jealousy increases

(B) Collaborative working attitude is
developed

©

(D) Respect towards the school increases

foemermi # ey weTH fRman
mm%mw%mwﬁﬁ

(A) 1 ! WISHT 9 ST |

(B) Tt shiHehTSit wo farehfid &1 91 |

© —

(D) TRl % Uil GEH S 2 |

NKP




74. The most appropriate method

teaching arithmetic at primary level is

(A)

(B) Play way method
(C) Synthetic method
(D) Equation method

maﬁeswmaiw&m%ﬁﬁwﬁi

Iugeh faftr 2

(o) R

(B) = o fafer (Play way)
(C) Thafes faf

(D) fteRtur fafey

75. The most important challenge for a

teacher in the class is

(A) making of teaching and learning

process difficult
(B) maintain discipline in the class
©)
(D) None of these

s ek o foru wen # w98 Wl

oI Bl 2

(A) Toreror 3R s 61 gfsran 1 wfsa

M |
(B) hell H ITIREH ST TG |
©)
(D) ST T TS &

76. Students asking questions in the class

room should be

(A) advised meeting teacher after class

(B) discouraged

(C) encouraged

(D) punished

Hefl el T g oTed feraneff s

(A)

(B) adreafed foam T =nfaw |
(C) SrcaTted fopam S =nfzu |
(D) <fea feman st =nfzw |

NKP

77.

78.

79.

14
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needs the ability to touch with
one’s emotional state.
(A) Intrapersonal Intelligence

(B)
(C) Linguistic Intelligence
(D) Logical Intelligence

1 Toreft <ty ety
1 P hT AT <hl SATTThdl Bl 2 |
(A) IREIRE gfgaar
(B) Fiefn gfgwe
(C) TSTS g
(D) TTieheh Sfgrrett

People who communicate and interact
with one another is .

(A) Structured Relations

(B) Interpersonal Relations

(C) Intrapersonal Relations

(D) Mutual Influence

S AT Tk GER o H1Y HATG 3R ATa=
8, TE 2

() SR T

(B) 3Tdadheh TaY

(C) IRk gae

() R 7

‘When you do a piece of work, you get
a praise from teacher.” This gives a sense
of recognition which fulfils
needs.

(A) Safety and Security

(B) Physiological & Biological
©)

(D) Esteem and Growth

‘ST 3T IS Y Hd &, dl 3TIeh! e
SR THerdl 8 | A8 TgE sl HIeHT ol
=l 1 TELT Bl T HT 2 |

(A) S=Te ST g




80.

81.

82.

83.

A group is not when

(A) people are not shariﬁg their
common goal
(B) interact with each other to

accomplish their objective
(C) are aware of one another

(D) perceives themselves to be a part of

group
ThHEE e E s as

(A) ST O G A& 1 Freh Ta B |

w®E |

(B) 3T 3239 ! TU T % T8 Th gl
EXSI) |

(C) ThTH TR T AHA § |

(D) Gg ! 9gg 1 f&e oHd § |

Delegation of work by an individual is

(A) Authority
(C) Recognition
frfl g s T TS B
(A) SRR (B) 0T

(C) Bl (D) Frwerfat

conveys thoughts, feelings or
ideas to others.
(A) Receiver
(C) Sender

(B) Induction

(B) Encoder
(D) Decoder

1 GEXl o Tl § |
(A) STl (B) Wehist
(C) I (D) fewpret

exhibits self-confidence, self-

(D) Responsibilities

Tormm, et a1 et

motivation, demonstrate sense of pride |
in work assignments, receptive to new |

ideas, processes and people.

(A) Attitude

(B) Ethics

(C) Professional image

(D) Responsibilities
mﬁwm JTeH- ﬁwrru'qﬁa

eh«ﬂ% e 34&|$-1H¢ﬁ?|6f€ﬁﬂ'la=rr U |

gfRAIst 3R A %

IOI‘C{I{I

PRUNIGRIB TG R
(A) =R (B) faean
(C) HRIeR Bid (D) et

|
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84.

8s.

86.

deal with the central problem
of teaching learning act.
(A) Teaching-learning material
(B) Teaching-learning strategies
tactics
(C) Use of appropriate audio-visual aids
(D) Use of hardware and mass media

Toregor srferm foram <6t i
e @ faed € |
(A) fareqor arferm ammft
(B) Tareqor — arferms <At wrifoRIt 3R Jfwa
(C) SUYH A - TTEHT HT ITIM
(D) BTEAT 3R THER ATEIHT hT AT

is not a component of

teaching as a scientific process.
(A) Content (B) Communication

(C) Feedback (D) Examination
T ST WishAT % &' H

318701 =61 Ueh ek T 2B
(A) faox (B) HER
(C) Sffsha (D) udien

Good teaching is a result of

(A) Teacher training

(B) Experience

(C) Command over subject and good
communication

(D) Friendly behaviour with students

71 farequr fopmrept aftom 3 2

(A) Toreres wfsreror

(B) B .

(C) Torwar 37 3= TR W e

(D) BT % 1Y QAT I8N

In the class-room, the teacher’s role is

(A) Guide and philosopher

(B) Leader of the group

(C) Motivator

(D) Only as friend

HeT-ohet H, freren 6t wftreet 21t B

(A) TS 3R gRIFH

(B) HYE o el

(C) B

(D) et R & €9

and

NKP
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88.

89.

90.

NKP

As a teacher, how will you try to get rid
of the social evils ?

(A) By awakening public consciousness
(B)

(C) By publicity through posters

(D) Thinking that these social evils can

never be removed, so let them be.

T f3eTeh o €9 | 319 ARG gUSAT §

HY BRI TH T JITH T ?

(A) SH=IGHT SHTTERT

B)

(C) U o ATEqH & =R g

(D) Ig G foh 31 AR Ul i
w3t @ A foran s Wk 2, @ 3%
e Kl

The main objective of teaching is

(C) To facilitate learning
(D) None ofthese

freor 61 geT SR B

(A) Rreor 9 T s F R e |

e ATt 1 ITFT T |
(1) A 1 g0 F % fore
(C) HRaH i giagn JgH & o e
(D) 378 B i3 &

Teacher will work in best interests of
by respecting the diversity | 93.

of the heritage, language, identity and

culture.
(A) Parents (B) -
(C) Peers (D) Learners

Torereh forrera, WToT, 9E=H 3TR GEh{d 6

fard 1 T T |
(A) wa-far (B) §ES
(C) @t (D) femfer

16
|Yellow = 3M | Green=2M | Blue= 1M |

91.

92,

Teacher uses that gives learner
opportunities to show what they have
learnt, and what they can do with that
knowledge.

(A) Feedback
(B) Assessment

(C) Learner’s contribution

(D) Records

e & I HAT & S
Tremfiat =t g fo@m™ 1 R Tar &
I T HiET & 3R 9 39 I o 1Y .
FAHAE |

(A) Sfcfsa

(B) 3TTehet

(C) Fregreff =1 e

(D) Afrer@

What is the most important for learning ?
(A) Common sense
(B) Knowledge

(C) Encouragement by teacher
(D) None of these
e & foe aed Sed g 7

(A) ETHE qHS

(B) §H
(C) Taretes grT WicwaTe
(D) 31 4 IS T

To which of the following will you give
importance while using teaching aids ?

(A) Price

(B) Student interest

(C) Attractiveness

(D) Magnificence

Treror wErRes Amft 1 T R T
s frferfa 3 & ol e 31 7

(A) 53 (B) BT feeraadt

(C) EiteReml (D) e




94.

9s.

96.

97.

The quality of an education system and
the profession of educators within a
system depends mainly on the

who guide and carry out most of the
tasks and activities of education that take

place within the schools and institutions g

in the system.
(A) Principal
(C) Teacher

(B) Vice Principal
(D) Coordinator

ek faren sorreft <h UrerT ST ek STt

o e fRrerehi o1 U &I ®9 9

o foke e & S et 3 ot |

3R Tiafale@l &1 "ot @ g S
e o TRt 3R Tl 6 fR a2 |

(A) JgETEIEsh (B) BU-SHMHIEYh
(C) IHMUh (D) EH==h

All teaching is a combination of

(A) Interest and readiness

(B) Readiness and abilities
(C) Capacity and readiness

(D) Skill and will

T freor 1 T TASH & |
(A) B 3R qerar

(B) Teaten 37 &rard

(C) &THaT 3T qcoraT

(D) TaguraT 31 ==t

The major problem in attending Indian !

rural schools to face global competition is
(A) Lack of good teachers

(B) Lack of proper school building

(C) Lack of motivation among students
(D) None ofthese

Sfveres gfcreaet w1 amaT S % forg W
TTefioT Tl <h YT o H YW THE 8
(A) Tarerent 6t et

(B) 3ferd Tped W ot el

(C) BT < sft=r Som o6t et

(D) 39 ¥ IS el

When a teacher explains any thought or
fact to the students, it’s called

(A) Communication skill

(B) Teaching skill

(C) Demonstration

(D) None ofthese

9 I3 et ST Hl HIg foaR A7 qe

GHSATT &, 1 3 HEl ST 8
(A) BERSRE  (B) e siere
(C) He3H (D) T8 S 1S Tl
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98.

99.

100.

Seema learns every lesson very quickly
but Lina takes longer to learn them. This
denotes principles of

(A) General to specific

(B) Interrelationship

(C) Individual differences

(D) Continuity

T W U1 B dgd o<l di@ Il 2
TAfeR AT 378 Hig | 31fereh T ot 2 |
Tz % Torgrdi ! guiian 8 |

(A) g @ fafis (B) Aqdes

(C) SFRFTd @ (D) [HRaal

If you wish to develop intellect of a
student, which quality of his/her should
be encouraged more ?
(A) Create a helpful
environment

(B) Interference by parents and teachers
(C) Criticism by parents and teachers
(D) Create a strict atmosphere

Ife 39 BT 61 gfg foepiaa S 9m&d 2,
a1 35k form T[0T Wi 3AfUek SicTied feRa
ST =Ry ?

(A) T HEMH IR T ararater A
(B) Hre-furem 3 ferent grr seaa

(C) e forem 3R frerent grr steirem
(D) Teh T&d A8 ATd

and fearless

is rightly said to be the right
hand of the teacher as no teacher can
think of teaching effectively without its
use.
(A) Globe
(C) Apparatus

(B) Maps

(D) Blackboard
et o1 eIt BT hE
ST 8 Rifes his off faretes ok SUET %
o worrelt & § U™ & W R H g ot T
ghar g |
(A) T (veATe)
(C) BY=hiv]

(B) HEf
(D) =ihaTS

NKP
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102.

103.

104.

NKP

Section-C / 9TIT-9
General Awareness / 9THI STTRschdl

101. Who is considered as the most powerful 105. Who was the founding President of

Chola ruler ?

(A) Rajarajal (B) Adityal

(C) Rajendral (D) Parantaka I
T TIRBIMCA <t e fohdl AFT ST 3 7
(A) TSRS 92| (B) 3ATfeed wem

(C) Teig 9uH (D) T IUH

By whom was the first picture of Bharat |

Mata made ?

(A) Abanindranath Tagore

(B) RajaRavi Verma

(C) Nandalal Bose

(D) None ofthese

RA ATl 1 ggen o feraes g s
RIL 1O 1 Y

(A) 3TEHIZATY R (B) T U amt

(C) FeATI SE (D) 30 § s &I

‘Alamgir Nama’ is a history of which of

the following Mughal emperors ?
(A) Aurangzeb’s reign
(B) Shah Jahan’s reign
(C) Jahangir’s reign

(D) Akbar’s reign
‘SATATTR e Fefeiaa
STCIITE 1 3iae™@ & 7

(A) 3RS <hT ATEH

(B) SITESTEl T &

(C) STEITIX hT SITEH

(D) 3TehsT=hl AHA

In which of the following annual session
of Congress was Jawaharlal Nehru
elected as President of Congress ?

(A) Haripura session, 1938

(B) Lahore session, 1929

(C) Bombay session, 1934
(D) Karachi session, 1931

09 & ffaflgd § @ feg oiffs
AREIE T AT 8% bl hiUT
T FAT TR AT 2

(A) BRU AfeE, 1938

(B) &R ATy, 1929

(C) aied 3ferawH, 1934

(D) S 3AferewH, 1931

49 form get |
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106.

107.

108.

Congress Socialist Party ?
(A) P.C. Joshi

(B) Jaiprakash Narayan
(C) Acharya Narendra Dev
(D) Ram Manohar Lohia

HIUE T UTET o TEATIH A Hid
J 7
(A) F.5d. St (B) STITRI TRE

(C) A= AZ T (D) TH TR Alfea

Which of the following Mahajanpadas
had capital Champa in ancient India ?
(A) Vajji (B) Kashi

(C) Vaishali _ (D) Anga

g wRad H fefafgd ® @ fod
HESHYE sl T =T off 2

(A) o=t (B) wreft

(C) et (D) 3T

Which of the following is associated

with the Gupta age of Indian history ?

(A) Visit of Chinese pilgrim Hiuen Tsang

(B) Macedonian invasion

(C) Significant contribution to Indian
astronomy by Aryabhatt

(D) Significant contribution to poetry by
Banabhatta

frefaflaa 9 @ =9 @1 yRd sfaee &+

TAFTA TSR R ?

(A) < At 77 | 6 A

(B) HTSIfIT 31mshmor

(C) IRYE R WRA™ @e-fage &
HEcaqUl AMTGH

(D) STUTYE GRT il § Tgeaqul AMTeH

“The Rigveda includes more than a
thousand hymns.” - By which name they
are known as ?

(A) Smrit (B) Kandak

(C) Mandala (D) Sukta
“Fde T Ush goR § 3Tf0eh & It 8 17
IR Tma SIS e ?

(A) T (B) #ah

(ORESI (D) T



109.

110.

111.

112.

The part of Himalayas, situated between
Satluj and Kali River is knownas
(A) Kumaon Himalayas

(B) Nanda Himalayas

(C) Middle Himalayas

(D) Assam Himalayas

Hacls 3T hIeht Al o = feora fegmmer |

% | 1 FETACR |
(A) T fearerd  (B) er faurer
(C) v fgarem (D) 3/@H feumem

Which one of the following statements is

not correct regarding Ladakh ?

(A) Ladakh is a cold desert.

(B) Ladakh is a Union territory of India.

(C) Average rain in Ladakh is 10 cm
per year.

(D) The literacy rate of Ladakh is only
7.16%.

fraferfad § O 19 91 S olerg & T8y |

HEETE R 2

(A) TIERE Tsh 38T MM 7 |

(B) STERE W i <hg; AT T 2 |
(C) g H e s wfdeny 10 T 2 |
(D) TERG <h! HIERAT gL haet 7.16% 2 |
What was the former name
Jamshedpur where “Tata Iron and Steel
Company Limited” is situated ?

(A) Sakchi (B) Bagchi

(C) Salem (D) Bhadrawati

ofr

STESICYR 3T g AT T o1 &l “TMRT AT

g Wit S foifies” R g 2
(A) drehdl! (B) STTE
(C) T (D) wgradt

With which one of the following rivers

is the Omkareshwar Project associated ?
(A) Chambal (B) Tapi

©) Narmada (D) Bhima
SRR i frefafea o @ ﬁFH

TAAGER 2
(A) I8 (B) ardt
(C) e (D) sfm
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113.

114.

115.

Which of the following is Khetri famous
for ?

(A) Alumintum  (B) Fertilizers

(C) Gold (D) Copper
fFrferfiaa o & o<t foroes fu g 2 2

(A) Tegfaf=m (B) 39
(C) | (D) dfar

Why India and its neighbouring
countries are together called the Indian
sub-continent ?

(A) vast size of the area

(B) political dominance of India

(C) region’s aloofness from the rest of
the world

(D) typical economic links between the
various member states

TR 3 3HP TSt < il freme

TR SUHRTET 1 el AT 8 2

(A) & o1 fIeme TR

(B) YR o1 TSHITceh T

(C) 9 g | & 1 gUehed

(D) foftm wewr Tsai & & fafdre
el Haeg

In which of the following areas, is peaty
soil found ?

(A) the Kashmir valley

(B) Madhya Pradesh

(C) Coastal area of Odisha

(D) Rajasthan

= 9 9 fore & H e i as STt 2 2

(A) HIH I
(B) wed geH
(C) 3nifssm & adi &
(D) TSI
NKP



116.

117.

118.

NKP

Which government agency is responsible
for the mapping and exploration of
minerals in India ?

(A) Survey of India

(B) Geological Survey of India

(C) Minerals Development Corporation
(D) School of Mines

WA H @Sl o AFEE0 31 3790 &

o i ot TehTt Tt feeR B 2
(A) TR Teeqor

(B) WA aITieh Haeaor

(C) @i faerm fm

(D) T AT "IgH

Which of the following area is declared

as India’s first marine eco-sensitive zone ;
by ‘The Ministry of Environment and ;

Forests’ ?

(A) Gulfof Kutch

(B) Palk Strait

(C) Gulf of Khambhat
(D) Gulf of Mannar

Rreferfaa 3 & feg & =1 ‘wienor 3t |

T TG g YRA T UgAl 9l
A TERUT -l Tel & Ty fopam T g 2
(A) HTSHI @IS (B) UTh STA@re
(C) WA HITE (D) HAR 1 @It

| 121

In which of the following states Cold |

Desert Biosphere Reserve is located ?
(A) Uttarakhand

(B) Jammu & Kashmir

(C) Himachal Pradesh

(D) Ladakh :
1 o @ fora T ﬁFﬁHWGﬁW
oo feora g 7

(A) ITHEE (B) STH] 3R ¥R
(C) fmrmigen (D) wEr@
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119.

120.

Which two forms of alcohol do we
include in biofuels ?

(A) Propanol and Ethanol

(B) Methanol and Ethanol

(C) Propanol and Methanol

(D) None ofthese

B G309 H 3Aehiga o fohd Ql &I ol
M FA 7 ?

(A) JTUATS 3R TSI

(B) TSI TR WeHiA

(C) ATt 3R BT

(D) T8 H 1 Tel

Which of the following elements is
responsible for groundwater pollution in
various states ?

(A) Fluoride (B) Chlorine
(C) Sulphur (D) None of these
frefefed § @ ®F 1 9 fafvem st |

VST SIGHUT % foTg FTigR B 2
(A) FIINES (B)
(C) FeHL (D) 314 | 15 Tl

Who wrote the famous book ‘Aaj Bhi
Khare Hain Talab’ (‘The ponds are still
relevant’) ?

(A) Amritlal Vegad

(B) Rajendra Singh

(C) Sopan Joshi

(D) Anupam Mishra

aftrg TEdes IS ot W 8 A’ (e
el oft srEfiren @) foe foret 2 2

(A) IFEEE IS (B) i fg

(C) AUE SRt (D) 379 fusn



122.

123.

124.

Who among the following is popularly
known as ‘Waterman of India’ ?

(A) Kailash Satyarthi

(B) Jadav Payeng

(C) Rajendra Singh

(D) Anupam Mishra

frefafiga 1 9 frg Al w9 8 gred

AT e F I I AT AR 2
(A) dea areff  (B) Sed 9riT
(C) TSig forg (D) 31 fars

Why carbon dioxide gas is primarily
called a greenhouse gas ?

(A) Traps heat

(B) Traps light

(C) Traps warm currents

(D) None ofthese

e SE3TEE T ol §&F &9 o
fereH T I HET A 2

(A) T BT TR R |

(B) TehT3T <! Uehd B |

(C) T 93T i UeheT § |

(D) 7 T & 1S T
What does UNFCCC stand for ?

(A) United Nations Framework Control E

on Climate Change

(B) United Nations Framework
Convention on Climate Change
(C) United Nations Framework

Communications on Climate Change
(D) United Nations Framework Climate
Communications Council

3 T U ot w7 2

(A) IATELE AYE WHIS Hald A
FATSHS =

(B) IAZeE AYH HHaeh HovH M

FATSHS =

(C) FATELE 90 FHTh BRI 3 |

(D) 1SS A9H  WHIS  FARHC |
HE RS BRI
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125.

| 126.

127.

Ms. Bachendri Pal had undertaken a
unique expedition for focusing attention
on which of these ?

(A) The Girl Child

(B) One Nation One Family
(C) National Integration
(D) Spirit of Adventure

ot it ore | 3 W form W e g
U o ToTT Teh 3T HANR—H Tt o1 2

(A) TfeTent
(B) T TY T R

(C) TEH Tl
OEIREEIRICE

Ali Akbar Khan was famous for playing

which of the following musical
instruments ?

(A) Flute (B) Sitar

(C) Tabla (D) Sarod

et 3rher @ F=fafga @ 9 forg 9w

I ! S & fe IRg & 2
(A) sigh (B) faam
(C) T (D) &g

Who was the first Indian to win The
Booker Prize ?

(A) Dhan Gopal Mukherji

(B) Nirad C. Chaudhuri

(C) Arundhati Roy

(D) Aravind Adiga

“SJoRt JUEhT” ST e S R 3 & 7
(A) & T st

(B) g . <

(C) 3%yl U

(D) 3rfeig Jrfem

NKP



128.

129.

130.

NKP

In his “Tryst with Destiny’ speech,
which one from the following said “The
ambition of the greatest man of our
generation has been to wipe every tear
from every eye” ?

(A) Mahatma Gandhi

(B) Jawaharlal Nehru

(C) Lala Lajpat Rai

(D) Sardar Patel

AT e fe et oo & e & |

g fpae gt a1 fo6 “gurd didt & Ted
g SAfh hl HaEcaThial &1 AE ¥ &
g die IR 2

(A) HEICHI e (B) SHETETel He&
(C) T SATSId T (D) HGR 4o

Who among the following was an Indian

physicist known as “The father of Fiber
Optics™ ?

(A) Sam Pitroda

(B) Dr. Vikram Sarabhai

(C) Narinder S. Kapany

(D) C.V.Raman

freffad 3 @ B9 w6 T i |

fosrt & 92 “wrger s 1 e
FEIACE ?
(A) 8w fosiar
(C) AN wE. Hurt (D) =t T

Name the

(B) ©T. forshm Arnmg

134,
founder of SEWA (Self |

Employed Women’s Association) who |

was awarded Padmabhushan.
(A) Elaben Bhatt (B) Baba Amte
(C) Aruna Roy (D) Medha Patkar

ﬁm(SEWAwﬁaﬁﬁanﬁww)eﬁg
TEATISH T 19 FATy, ﬁ%w&ﬁwﬁ

gEaT(a foha T o |
(A) 3199 Wg (B) SIS 3R
(C) 3o T (D) T ITeehT
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131.

132.

133.

Who among the following has been
honoured with the French government’s
highest honour- Chevalier de ’Ordre des
Arts et des award ?

(A) K.S. Chithra (B) Aruna Sairam
(C) Asha Bhonsle (D) Hariharan
frefetigd 4 & fohe i ¥R < TaT

M - YRR S &' 310 30 37eH T 30

EHT A FHEATHA R g 2
(A) g, femr  (B) 37e0N HISTH
(C) 3Tm=m (D) BiEH

Who among the following was the first
from India to be awarded the prestigious
Pritzker Prize ?

(A) Charles Correa

(B) Brinda Somaya

(C) B.V. Doshi

(D) Ganesh Deolalikar

frefetiad § § &9 YA % gl oAth o

N wfafsd Brese R & wmrta

P e 7
(A) IeE BT (B) &1 AWRT
(C) st gsft (D) TN IIATCIeT

In which year Chittorgarh Fort has been
designated under UNESCO World
Heritage Site ?

frdteme fohet o1 fopa o Fent fova
TS T < €9 H A1 FRaT e 2
(A) 2013 (B) 2018

(C) 2022 (D) 2023

Who is the author of Rajasthani book
‘Alekhun Amba’, winner of Sahitya
Akademi Award-2022 ?

(A) Jeevan Singh Manavi

(B) Kamal Ranga

(C) Idan Singh Bhati

(D) Deendayal Sharma

Aifged  SThIgHl  qWhR-2022  foa
TIEIH Q&b ‘3MeRg 3T & i@
HHE ?

(A) Sfaa fag wedt (B) hHet T

(C) 3TseH f&g widh (D) e v
m]




135.

136.

137.

138.

Where is ‘Chaurasi Khambho ki chhatri’
located ?

(A) Kota (B) Bundi

(C) Jhalawar (D) Bhilwara
<t @i < Badl’ Sl fRId B ?

(A) BrT (B) 94

(C) HeTrETe (D) ¥ierare

Where was Rajasthan Sewa Sangh ;
established in year 1919 ?

(A) Jaipur (B) Jodhpur

(C) Wardha (D) Calcutta

TS TaT T 6 TET a9 1919 |
el g ot ?

(A) SR (B) STU

(C) Tt (D) SHeAehl

The stepwells which collect the |

subterranean seepage of an upstream
reservoir or lake in Jodhpur region are
knownas .

(A) Talabs (B) Bandhis

(C) Baoris (D) Jhalras
SR & T S e = 3 = yfma |
T I 1 TRz w1 aTeft grefeat i
_ HEIAg |

(A) ATeTE (B) et

(C) St (D) #ret

Who was the first Governor of Rajasthan ? |
(A) Gurumukh Nihal Singh 5
(B) Hukum Singh

(C) Dr. Sampurnanand

(D) Raghukul Tilak

TSR o YT TSIITA A & 7

(A) e frerer fie

(B) 5% foie

(C) . Jyurig

(D) W% foerh
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139.

140.

141.

| 142,

Which dance form of Rajasthan is
included in Intangible Cultural Heritage
list of UNESCO ?

(A) Ghoomar (B) Kalbelia

(C) Kachchi Ghori (D) Terah Taali

TSR 1 HF &1 I Fiwh! i 3
Hieahieh forrerd = H e & 2

(A) g1 (B) SHTersifora

(C) = =gl (D) @ aretl

What was the approved and installed
capacity of Ranapratap Sagar Dam for
hydroelectricity generation ?

(A) 172 MW (Mega watts)

(B) 127 MW (Mega watts)

(C) 120 MW (Mega watts)

(D) 25 MW (Mega watts)

STA-Taga IcaTe W fofT, TUISA™ "R
i 3! wliehd Ta wTfud ama fopat ot 2
(A) 172 TETE

(B) 127 WTETe

(C) 120 TTETE

(D) 25 WETe

How many Lok Sabha seats belong to
Rajasthan ?

TSI Y Aveh 97 <hl fopa i e & 2
(A) 32 (B) 25
(©) 30 (D) 17

Which city in Rajasthan was called
“Island of Glory” by Dr. C. V. Raman ?
(A) Ajmer (B) Udaipur
(C) Jaipur (D) Kota
. dLal. WA A TEE o fohE Wil H
“Iia 1 g1a” (Island of Glory) & €T ?
(A) TR (B) 3TAR
(C) SR (D) i

NKP



143.

144.

145.

146.

NKP

Which Indian Mega city scored the
highest in the “Ease of Moving Index
(EoMI) India Report 2022 ?

(A) Surat (B) Lucknow

(C) Kanpur (D) Pune

o g A T % E o A
330 (3amumans) sfean fid 20227 #

To=l ThI foha ?
(A) @ (B) d@T>
(C) HHAR (D) g9

In which city did PM Modi inaugurate
India’s first water metro ?

(A) Kolkata (B) Pune

(C) Kochi (D) Bhubaneswar
Ty A 3 fhE IE § wRd S uge]
et Wl T 3eETed fohar 7

(A) HicThral (B) g0

(C) It (D) JavaX

Where is the ‘G20 Space Economy
Leaders Meeting’ organized in India ?
(A) Shillong (B) Jodhpur

(C) Bikaner (D) Bengaluru

T G20 B TR efved R B |

SRS Shal fhaT TR ?

(A) frettt (B) SH
(C) e (D) STeL®
On which country’s proposal ‘The
United Nations General Assembly’

(UNGA) declared the year 2023 as ‘The
International Year of Millets’, which
was supported by 72 countries ?

(A) India (B) Russia

(C) Nepal (D) USA

TFE <1 % TEE W EWYE T TEEEr
(UNGA) 7 9§ 2023 &l ‘g Soi oy’
S foram, T8 72 <31 b1 TmeH e e
(A) ¥rd (B) &5

(C) Hutet (D) IuET
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147. At the Global Education & Training

148.

149.

150.

Exhibition, which country’s Pavilion
was inaugurated in Dubai ?

(A) Indonesia (B) India
(C) Singapore (D) Norway
¥ dfvges fen i ufireor yeeH d
e & Hugy (Ufaferam) 1 3IgEted
fepam w2

(A) FSHfmE (B) WRd

(©) famg (D) e

Complete the theme of Rajasthan
Budget-2023 : Bachat, , Badhat.
(A) Ghatat (B) Aavak

(C) Samriddhi (D) Rahat

TSR §92-2023 6t o = gof =i

dd, , ded |
(A) 9ed (B) 31dh
(C) =i (D) Tr&d

Which of the following film has won the
Oscar Award in documentary short film
category recently ?

(A) Fire of Love

(B) RRR

(C) The Elephant Whisperers

(D) Everything Everywhere

Frafrftaa 5 & ford fhem 7 21a &t 3 gt
g fthem St o 3Tt TR Sfiar g ?

(A) BRR 37T® e

(B) ANITRIAR

(C) & Uferthe fegerwd

(D) Terife Tadieeat

Which country’s High Commission
announces its Government grant for a
project in Kargil in India ?

(A) Australia (B) Japan

(C) Russia (D) Germany
forg &1 % IR 4 YRA H SRATA H Tsh
UIESHT o foT 319 Tehil 3geH i
o Rl 7

(A) Freferan

(C) &4

(B) UM
(D) ST



151.

152.

153.

154.

155.

156.

157.

158.

Section-D / Y-

English / SO
L 159,

Fill in the blank with the correct option :

No sooner did he go in, she
came out.

(A) than (B) then

(C) when (D) and

Fill in the blank with the correct option :

The thief ran away

be caught.

(A) lest (B) but

(C) unless (D) otherwise

Fill in the blank with the correct option :
We should abide the rules of
the Institution.

(A) with (B) by

(C) to (D) on

The nearest word that express the
meaning of PLACID-

(A) Clear (B) Enjoyable

(C) Dull (D) Calm

The nearest word that express the |
meaning of SLANDER — ;
(A) Fame (B) Approve

(C) Defame (D) Applaud

The father said to the daughter, ‘Your
teacher
misbehave.’

punish you if you

(A) hasto (B) should
(C) may (D) must
you are poor, you are honest.
(A) For (B) Since
(C) Though (D) Yet

Select the word that is used for the
‘Study of mankind’ :

(A) Physiology

(B) Pathology

(C) Anatomy

(D) Anthropology

he should
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160.

161.

162.

163.

164.

Change into passive voice —

‘My uncle promised me a present.’

(A) I was promised a present by my
uncle.

(B) I was promised by my uncle a
present.

(C) I had been promised a present by
my uncle.

(D) A present was promised by my
uncle to me.

Change into active voice —
The Hunchback was being laughed at by

everyone.

(A) Everyone was laughing at the
Hunchback.

(B) Everyone laughed at the
Hunchback.

(C) Everyone laughs at the Hunchback.
(D) Everyone is laughing at the
Hunchback.

Use the correct form of the future tense
of the verb given in the bracket-

You French during the next
month. (learn)

(A) will be learning(B) will learning
(C) shall learning (D) are learning

They their dinner tomorrow at
this time.

(A) will have (B) having

(C) will (D) will be having
Fill in the blank with suitable question
tag :

We can help the needy,

(A) can’t we ? (B) dowe?
(C) shall we ? (D) should we ?

Fill in the blank with suitable question
tag :

After the continuous rain yesterday, it
was cold last night,
(A) wasit?

(C) wasn’tit?

(B) is it ?
(D) didn’t it ?

NKP
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166.

167.

168.

169.

170.

171.

172.

NKP

The meaning of the phrase, ‘A red letter
day’ is :

(A) A dangerous day

(B) A pleasant and memorable day

(C) A very bad day

(D) An unimportant day

The meaning of the phrase,
corners of the earth’ is :

(A) From morning till night
(B) From beginning to end
(C) From all parts of the world
(D) From the very beginning

Fill in the blank with suitable preposition :
My mother has been teaching in this

college the last fifteen years.
(A) from (B) since
(C) in (D) for

Fill in the blank with suitable preposition :
She has not read anything

Monday.
(A) since (B) for
(C) from (D) over

Which prefix is found in transport ?
(A) Tra

(B) Tran

(C) Trans

(D) None ofthese

Which prefix would be attached to

counter ?

(A) Un (B) In

(©) Im (D) En |
Which prefix would be attached to
‘agree’ ?
(A) Non (B) Dis

(C) Un (D) In

Which of the following has ‘-ant’ suffix ?
(A) coolant (B) vibrant
(C) pant (D) dant

‘Four

173.

174.

175.

176.

177.

178.

179.

180.

Which is the suffix appropriate for
‘relative’ ?
(A) ness (B) tion

(C) ance (D) ity

Give antonym for the given word —
Adversity

(A) calamity

(C) good fortune

(B) misfortune
(D) diversity

Give antonym for the given word —
Transient

(A) long lasting
(C) temporal

(B) transitory

(D) transition
Choose the correct option to fill in the
blank :

If you had let me know earlier, I

have been able to come.

(A) will (B) shall

(C) could (D) would

Choose the correct option to fill in the

blank :

You look very pale, I think you

go to the doctor.

(A) will (B) shall

(C) should (D) would

Change the following simple sentence to

a compound sentence :

Besides being rude,

arrogant.

(A) He was rude and arrogant.

(B) He was not only rude but also
arrogant.

(C) He was not only arrogant but also
rude.

(D) He was being rude and arrogant.

he was also

Choose the correct option to fill in the
blank :

An airplane flies  than bird.

(A) more fast (B) faster

(C) fast (D) fastest

Choose the correct option to fill in the
blank :

You should not use mobile  you are
crossing the road.
(A) while (B) as
(C) where (D) but
O



181. ‘A person who does not make any
mistake’ is called
(A) Intestate

(C) Infallible

(B) Agnostic
(D) Fatalist

Read the Following passage and answer the

Questions given below : (Q. Nos. 182-186)

New Year’s Day officially begins as |
soon as people yell “Happy New Year” at |

midnight. Most people continue partying well
after midnight into the wee hours of the first
day of the new year. In fact, many New Year’s
parties include breakfast or brunch. Sometimes
at the stroke of midnight there will be
fireworks and couples often kiss. One of the
most famous New Year’s celebrations takes

place in New York City’s Time Square, where

a huge cut crystal ball drops at midnight in
front of millions of people standing in the
cold. Many more millions watch on television.
Some groups, called Polar Bear Clubs, jump
into the cold ocean water on New Year’s Day
as a literal way to start the new year fresh.

New Year’s Day, January 1, is a national
holiday in the United States. This means that
schools, banks, government offices and post
offices are closed. Given how much people
tend to drink alcohol on New Year’s Eve,
many people wake up on New Year’s Day
with a hangover. The national holiday is a
good day to recover. Many people go out
partying with their friends on New Year’s Eve;
many people use New Year’s Day to visit
family members. New Year’s Day is also
when many people start on their New Year’s

resolutions. A resolution is a promise to ;i

change a lifestyle habit. The most common

resolution is to lose weight. Many people also

join gyms as part of their resolutions.

27

182.

183.

184.

185.

186.

What does the word “yell” mean ?
(A) make (B) shout
(C) jump (D) deliver

Wee hours means

(A) hours of late night

(B) hours of early morning
(C) hours of midnight

(D) hours
morning

from midnight till early

A resolution means in this
paragraph.

(A) acomplete change in life

(B) changing only one habit

(C) changing the whole lifestyle

(D) apromise to change only one habit

According to the passage, what is the
most common resolution that people
take ?

(A) consume alcohol
(B) party

(C) dancing

(D) lose weight

In which of the following cities of USA,
one of the most famous New Year’s
celebrations takes place ?

(A) Washington
(B) New York

(C) Detroit
(D) San Francisco

NKP
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188.

189.

190.

191.

192.

193.

NKP

Replace the underlined part of the
sentence with one word from the options
that follow :

Her handwriting is
impossible to read.
(A) legible

(C) illegible

Replace the underlined part of the

difficult or

(B) eligible
(D) ineligible

sentence with one word from the options |

that follow :

Shobhit is a person who always looks at r

the bright side of things
(A) illiterate (B) optimist
(C) pessimist (D) theist

Choose the correct article from the
options below to fill in the blank :

They  visited college
recommended by their teacher for
admission.

(A) zero article (B) a

(C) an (D) the

Choose the correct article from the
options below to fill in the blank :

Lisa wanted to hear end of the
novel.

(A) zero article (B) a

(C) an (D) the

Choose the correct option to fill in the

blank :

The prices of all these articles
increased in the last two years.

(A) has (B) are

(C) have (D) was

Choose the correct option to fill in the |
blank :
Are you looking forward Nitin |
again ? i
(A) to meet (B) meeting

(C) to meeting (D) to be meeting

From the options that follow, choose the
correct indirect speech of the given !

sentence :

She said, “Oil floats on water.”

(A) She says that oil has floated on water.
(B) She said that oil floats on water.
(C) She said that oil floated on water.
(D) She said that oil has floated on water.

i

194.

195.

196.

197.

198.

199.

200.

From the options that follow, choose the

correct indirect speech of the given

sentence :

Rohan said to me, “Where are you going

for the vacation ?”

(A) Rohan asked me where I was going
for the vacation.

(B) Rohan said that where I was going
for the vacation.

(C) Rohan asked me that where I was
going for the vacation.

(D) Rohan asked me that where I had
been going for the vacation.

Choose the correct determiner from the
given options to fill in the blank :

There are  books in the library.
(A) every (B) a great deal of
(C) much (D) alot of

Choose the correct determiner from the
given options to fill in the blank :

Vivek thinks he probably does the
work in the office.
(A) hardly

(C) Ileast

Choose the correct verb form from the
options given below :

Defence

(A) defend (B) defender

(C) defensive (D) defense

Identify the correct pattern of the given
sentence :

(B) few
(D) many

I know his address.
(A) SVOC (B) SVO
(C) SVOA (D) SvVC

Choose the correct exclamatory form of
the given sentence from the following
options :

It is a horrible night.

(A) What a horrible night it is!

(B) What night is horrible!

(C) It is indeed a night of horrors!

(D) None ofthese

Fill in the blank with the correct option :
You are going to be late today, you

better hurry up.
(A) are (B) has
(C) have (D) had
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151.

152.

153.

154.

155.

156.

157.

Section-D / ¥TT-¢q

Hindi / &8

A FEfigq T fre v v @ 7
(A) 3T (B) 3T
(C) Rt (D) gareft

T SR S

(A) T, W&, TId

(B) |, 9N, TqE

(C) ¥, 39, T

(D) IS, TR, Shael
frefafas § & smg a2

(A) e 3R aTfec § aR wee B |
(B) 3 g TEHT AT & |

(C) T 3o Tieh T E1ehT ST |
(D) I8 Teh UfergTiéreh TR |
ffefied o & Hgara & :
(A) T GHI T @7 |
(B) HSIgU g US hIeT 7T |
(C) e & @rn =& ST |
(D) R v & STl |
IH g1 7 S @ ° frefafaa g @
S A=A ?

(B) hHaTH

(A) Hgarea
(C) wrear=a (D) SHH-TeeT=a

frefetiad o & gafea U T8 &

(A) 3Ie¢ S At — STET B il

(B) = Sl 1 o1 = HIE 1 <1 - Fel
ST ¥ 37T T&T

(C) &R H Uid eIl ST - ﬁa%ﬁ%
B

(D) el ugTe, Hehefl giean - aifed &
3Ty B HET

"I S T ST bl hiE g TR,
cifeh ST&dl SAfh bl U T ﬁﬂ%m

EEREN

(A) BT Hel T BT

(B) =X T St ST, 37 Tid 1 fg
(C) =X 9 RE =&, M ¥ad

(D) & "t 9rET %™
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| 158.

159.

160.

161.

162.

163.

. 164.

165.

166.

frefetfiad H 8 SRE IH S

(A) SHaar=d - & T8 @ |

(B) - T & Gfh Tl ST & |
(C) wraar=d - T 3+t g |

(D) SHHATA - YRA g 71 3YUE BIST T4 |

IIg” 316G o1 AcOH AG HH AT R ?

(A) e (B) T

(C) g (D) ST 8 I3 Tel
frfaRad O o “areedl’ 31ee o1 faam visg
R 7

(A) ST (B) e

(C) STH&AM (D) fafa=mm
frfetfiga o @ ‘55’ w1eg 1 TEREETE SH
HAEE 7

(A) % (B) gufd

(C) | (D) 99

gy’ ieg Ffaitad H @ fopeent wataT=h
TR ?

(A) &R (B) 5

(C) =it (D) T
et wT AT T F 7

(A) B HH H TEA H SITET ¢ T STl
(B) et fur o et

(C) 9ga Hra-To=am &t aret
(D) Sgq THEM L Tl
T T M 91 EHE g ?
(A) 58 (B) AR
(C) wgshfe (D) Tge
‘T’ ssc Hr G R ?
(A) S HiST Sreran &l

(B) St fomn ferem Siretar &1

(C) ST e-ofR dieten &t

(D) STl A SieAdT &

319t gEal et & ied’ I8 TR
%‘Fwﬁ@‘éﬁl‘f\ﬂﬁ% ?
(A) ST o d STAl F & 7
(B) T =T &1 &1
(C) weg iy 81 9 srm
(D) St H TEeht TR H s
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167. “HST I@EHT GgTal o1 1 F1g 7
(A) IS AT
(C) TEHHEAT (D) HTH ISHT
"t wEteHT gRTe 1 1w 7

(A) T (B) TEET 3T

(C) WEBESTH (D) <1 I 9E STHET
i s ma g R ?

(A) T 3 Tl 3 &1 T |

(B) el F8I Gl T 2 |

(C) U & W Ueh AT 13T |

(D) 9% T SIS % S B3 |

TN ST Tgel | g8 &1 TR o fT Uk
TG 8

(A) Iaqd (B) 319

(C) AfTH (D) T
GUS 3162 o1 YF T Tee T B
(A) TS (B) U

(C) T (D) faurad
feda s af-fre adiz 7
(A) 3T = 31T + g

(B) &S =TT + 309

(C) UTash =1t + 3h

(D) STETY = I + 1Y

168.

169.

170.

171.

172.

173. ‘S@T-TGThL el T3 §T1d ITeST bl 7Y
Teh< i AT IS FATE 7
(A) T (B) e
(C) i (D) At
174, FrddeRAguH IS Seadi T 2 |
oG IH Y g
(A) F-FFA=R  Hg-qweId (I1G H)
(B) 3UAT-3A AAT-HAA
(C) Al -
(D) T9-I™ qIH-gI9
175. Tefafaa i g g @R ?
(A) ™| (B) Y9
(C) form (D) hefd
NKP

(B) YOI eI

176. ‘GFE’ 316g 1 faalig STag RIT R 7
(A) Tt (B) e
(C) &-Ted (D) 3Afhaa
177. “SHEY HHH ATHAH & ?
; (A) fam (B) AR
(©) 8 (D) wgshfe
| 178. “HTH-HTH H I | HHE © ?
(A) T wmm (B) JreRh¥E g9 ™
(C) ggau™ (D) HHYRT THH
179. fre o 9 form wreg S It g B 7
(A) I=HIH (B) U
(C) BB (D) g~
180. 313U fhE A TR & 7
(A) AT (B) 3Tehivd
(ORCIEIEED (D) e
181, M A e Asg A A E 7
| (A) Ut (B) fergm
(C) @ (D) u&fl

(9.5, 182 T 186) FAfcTRad TersT sl Uesht T

% IR WY
SAfHTcHe THTE 1 7F &) 377 8| Bisl

| T ufdfeT wame, wEwW, FAYD RER 3G
| U S § | SfedTeeh 31d 389 foerspa g

2 | 3T H1EH, Ife Uk Tee § T 91, dl 99,
w%wwwaﬁﬁwmﬁaﬁ%
foru rama foran mn R, e R avfoeent o
R ST 8 | 3 IR HeER & Fem gt 8

| uTeR %k W S 8 | 3w Rl 1 g
| aTfeEn 3R g i TR & 3 & | sl 3 9R-

S for & o6 Soer ot foerr seeht O g el
| 8T BT @ | Al 39 JAfedTcHeh T Sl S

- 3 qE O T T SR S, =0 ¥ & 3

| T T 3TN 38 R QW S fen s, ar freferar
| eTiG SiT 3Eeh Gd SRl ®Y G H A1 €, IR
| Bl WTH TR ST Thd & | I8 e ok a8 WIS %
 fore T T, 9-gfEe ST R |

| 182. 3UYH T HI FATTHh 3T HH &
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(A) UCHIR k! Hg™

(B) 3YeRHfh 3R T

(C) AfEHTcH 718 &1 qT
(D) =gfarg a1



183.

184.

185.

186.

187.

188.

189.

190.

191.

I STTTSC U Wisll <hl iR s

3T Soor fora o & Fop

(A) B R 5 T SR BT | |

(B) WISt &1 Hexd efud foman o |

(C) IS b TshaT—hetTdl bl IRl 1 &eh | |
| 193,

(D) 3feHTcHS JHATE hl ITH Jehdl
gearfed sht ST &b |

Taferer amife 7ot <hr e o forw Srraws &

(A) s=9= H 8fen f3rem o1 anamg

(B) Tcdeh 31Eeeq I fHgt &

(C) = ¥ & HfeETessh Sl ol STRE

(D) JATIET § T T T

wig%muﬁﬁeﬁﬁﬁww%m
Tl'q'[ _

(A) HEER % f=mi w

(B) €H-TTeH W

(C) ¥fF IMIA W

(D) W
FIEd’ W HT IR &

(A) Temro (B) =i

(C) AT (D) fmy
Freferfaa o wox aftr 1 S g 8
(A) T (B)

(C) WA (D) TR
freferiad o & 9% @ g

(A) T (B)

(C) 3 (D) 3

feaffga A o e A & &

(A) & (B) T

©) = (D) e
freferiaa o o gufeld 3@ & & :
(A) TRER - e

(B) fermt@fer - =

(C) TrER - qa;

(D) ferent wfYr - I

‘I wiee 4 frferfiad § @ ol |
ST I IR ?
(A) &

(€) 9

(B) 31
(D) 31

L 199,

| 200.

192.

194.

195.

196.

. 197.

| 198.

freafafga 5 9 Ques’ vise 4 i 91 I

TIH BN ?

(A) 3T (B) 3

C) = (D) T

fafafea d@ i g s gen wsg TE & -
(A) A (B) Y&

(C) =™ (D) AT

frefetiaa | S =T AT 3G & -
(A) 3TITI + T = FATLIHA
(B) o+ = &in

(C) T +3 = 1l

(D) YT + 3TFhs = YoTFhs

fee Hemme Fefafga i a s fiame ?
(A) STfdeTeeh (B) =afhar=h

(C) verdaraeh (D) WTeeTeh

@1g’ I ‘P’ FAfafaa g om o
M 3 ?

INREEEIEED (B) A v=aT=e
(C) J¥aT=eh ) REFEREICED

frefetfaa o & guferd faeim gm € &
(A) Y - 3fa (B) YR - JhI
(C) 3% - T9Fe (D) 31 - 3med
Frafafea oty a2
(A) H SfeT @ et foh 98 MA@ = |
(B) ST 33 St &, 38 <hI§ WK T8l shie |
(C) T = ! TEATT 3TN Thed W |
(D) # weh UM STaet ¥ i, it siga
BIRAT R |

“HIE 3 HisH fopam ¥ ‘8 a1 g ?

(A) HiE (B) WIS
(C) femam (D) ¥
FrafaRega o @ foesh g 71 2
(A) =HFT (B) g
(C) drda (D) sfR
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